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Classe de 6°

Exercice 1

Compléter sans calculatrice :

1. 0,1 x B518 = ...
2. 100 X o = 601
3. 10 X 984 = ...
P4, + 100 = 0,00159
5. 21,1 = 10 = .
»6. 0,01 X ... = 0,966
Exercice 2

Compléter sans calculatrice :

»1. 0,001 591 = ...
2. 0,1 x 788 = ...
3. 100 x 869 = ...
4. 52,1 = 0,00521
»5. 3,32 - = 10,0332
»6. 10 x 0,368 = ...
Exercice 3

Compléter sans calculatrice :

»1. 10000 X ...l = 16400
»2. 0,398 + ... = 0,00398
»3. 431 + 1000 = ...l
»4. 1000 0,16 = ...
»5. 17,7 =+ 10000 = ...l
»6. 3,64 = ... = 0,364
Exercice 4

Compléter sans calculatrice :

1. 0,182 = ... = 0,0000182
»2. 0,69 = 10 = ...
»3. 1000 x 0,654 = ...
P4, X 6,78 = 0,000678
[ 5 Y x 279 = 279
6. 8,83 +— ... = 0,00883
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.................... x 0367 = 3670
83,9 = 1000 = eirriiiiiiii
0,001 X 48 = i
0,0001 X 235 = iiiiiiiiiiiiiil
0,825 =+ i = 0,0000825
1000 X 39,1 = i
0,00 X 975 = i
0,321 = 1000 = \eiiriiiiiiiiiii
1000 X oo, = 8450
10000 X 6,75 = i,
0,0001 X 0,679 = oviirrreiniiin,
0,625 = 10 = eei
0,001 X 0,925 = riiiiiiiiii
...................... x 847 = 84,7
....................... x ATT = AT7
0,00 X 127 = i
0,0001 X 325 = iiiiiiiiiiiiiiil
0,1 X 648 = it
0,686 =+ 100 = \iiiiriiiiiiiiiin,
10000 X oeeei = 697000
10 X 6,98 = e
0,1 X e = 217
0,01 X 0775 = oriii
0,001 x 0,146 = 0oiiiiiiiiiii,
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